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Please translate the description below from Mandarin to English ( %53t ) :

L REHBERBRAGHARALLGTPHBERBEL  FAASR AT AAI6 A %
£ 5556 ABAHISA - FREBRELABEGEYMAT  BLAMBELEIAT RIS
HEEAE? (15%)

2. FHLBYRMEAEARETRFOEEZER - (15%)
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Please translate the description below from English to Mandarin ( &8 ) :

1. Please write the null hypothesis (H0) and the alternative hypothesis (H1) for the one-way ANOVA test.
(10%)

2. Please calculate the sum of squares between groups (SSB) and the sum of squares within groups
(SSW). (10%)

3. If the null hypothesis is rejected, further post hoc tests should be conducted to identify which specific
groups exhibit significant differences. (10%)

4. FRAFGRMABEUTE A NE © (20%) (Ref: Benedetti et al., 2019 Energies).
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Correlation matrix. The scale represents the value of the correlation between two variables.
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5. A THHEMBEULTEANA © (20%) (Ref: https:/media.market.us/flu-statistics/).
Rate of influenza-related hospitalizations in the U.S. - by age
group
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1. &iBRomE-
(1) RAEFEFRACBRERERBEM (54)
Q) REFEFRAN —REZAN % E (55)
(3) BHIMARBEDERMER (52)
(4) BFEystERNFRATERFE (55)

2. REBHBRYFREHRHESERIEERFOGH ALY 2EUQ,0) - REKFHALEL F
SR E 45 #1243 4 15 06 5488 8 548 o 34 7 A H) £ & (method
of moments ) #2% A% (maximum likelihood method) R &3t 2 96944 (10 40 )5 Z A3 F
3% (Mean Square Error) 9 A & » R AR —HEH%E? (65)

3. FRANALH 1,200 4z 20 RURERRETH ERAREREAELR TREAAI
HHE LIEEABIMNIHE  ARARED 28% 4R XH FREANARAX HT
BEAMAZAEY  BIEAYR (XY) RABAEERASL —IE LB BHKA =828 (Trinomial
Distribution) #475#7 °
(1) M =8 5 By 28 (parameter) A 25 Bk £ 23 - (49)

Q) MR ZANE LS EHCov(X,Y) =-np,p, » st E BRI LH 2HERBVar (- D,) ° (8
)

(G) IR LR FIHFREAFCBEEAIFEIMEEZGSWERERMFIEEAT)
LRATABLEAH B RAIZEAIBFERTABRENEE - (80)

4, FHREBHBAFFEBTIEH BEXERAEHASUR R THEAE THRELE>ERE —E
AR B p 4y =38 4B (binomial distribution) » H ¥ X 64T #4144 0,1,2,3,4 - StHBEE A
A EABA 0% P R FEUTBRERH,: p=05 vs H, :p=025 > &6F AT 4Rk -
WAk AR X=4 8B H,» RZRRIERH, » Bp4E B3 (rejection region) BHEA {4}
BMEEB WwREX=0RELBH,  RZAFELH,  PEBEAEL{0} Rk Ct
RX<1 BlERH, RZANFEBRH, » PELBBHES{0, 1} RE X D wRX=0%
X=4 RUERH,  RZAFELH,  FELBIHES{0,4)} -

—RaEMEL

0 1 2 3 4

p =025 0.3164 0.4219 0.2109 0.0469 0.0039

p=0.5 0.0625 0.2500 0.3750 0.2500 0.0625

WRBEEKREL =00625 > HFirE Ll 4Tk
(D) AA—ERFPEREERZFSazZE? (84)
Q) EH/ABZET  HEREERAUKREN? (84)
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5. —frshit oM R M e 8 0 LA ¥4k (Sales) BB IfFeis (Work) fo %
(Experience) #9014 - PR RBE I ERLT -

(54—
Analysis of Variance
Source Df | Sum of Squares | Mean Square | F-value | Pr>F
Model 1 95.234 95.234 0911 | 0347
Error 31 3241.312 104.558
Total 32 3336.545
Parameter Estimates
Variable | Df | Parameter Estimate | Standard Error | T-value | Pr> [t|
Intercept | 1 144.775 8.520 16992 | <.001
Work | 1 0.174 0.182 0.956 | 0.347
[%4r=1]
Analysis of Variance
Source Df | Sum of Squares | Mean Square | F-value | Pr>F
Model 2 2186.595 1093.297 | 28.522 | <.001
Error 30 1149.951 38.332
Total 32 3336.545

Parameter Estimates

Variable | Df | Parameter Estimate | Standard Error | T-value | Pr> It|
Intercept | 1 104.052 7.550 13.782 | <.001
Work 1 0.435 0.116 3.750 | 0.001
Experience | 1 1.573 0.213 7.385 | <.001

() BEHa#—momow@iErel  $83+ER - (69)
Q) LB — B BB I SRR EGZMGRBATE ? RERARERKX? (4%
Q) BNz E BN BB ERLA  AHENRERRTERE? PR Bz (40)
(4) % T 584058t (X1, Work) o 4 % (Xa, Experience ) SA 5k » 413 94 Ef o A8 (X3)
g (Xe) RFRITHGFE N > PMZATEIH AT —EAREH > UL =1
B A S FRAE B 00 H) AR 35 2 o B A % B B0 Ak B T ( Variance Inflation Factor,
VIF) - it B THRIEVIFES 2 BRI BARTERHBE? (55)

B % # H R R?
X 0.06
X2 0.94
X3 0.24
X4 0.56
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(5) Bt — S RETHEAKRSR R E—MARREWRS  $-MAKEME  £=
ARG BEE  FUHABRETHEFRREL? FRAHEER -(35) X1E 2R
#Z Student/bMrg 7% £ » %if8 R-Student# £ X ABEHEHN T FiEBREAMSR » A
BT en-1ERRMERZ XA G2 X iR ELR T4 R-Student® £14 - 3%
UL H B AT A R RS P HRAHEER (30 ) k14 &K — 4 F \~& DFFITS

(Difference in Fits) 14 - A HI BT R B A TRV ERFLE? FRAAGER - (39)

%1
. Standarized | Cook's R- Hat Cov
Obs Residual Residual D Student Diag Ratio DEEIES
1 0.521 0.423 -0.009 0.418 0.081 1.153 0.127
2 0.886 0.698 -0.011 0.692 0.015 | 1.050 0.116
3 -1.797 -1.430 0.021 -1.454 0.02 0.954 -0.313
4 0.370 0.288 -0.018 0.284 0.013 | 1.077 0.036
5 -0.997 -0.792 -0.01 -0.787 0.012 | 1.041 -0.160
6 -1.530 -1.214 0.004 -1.223 0.013 | 0.985 -0.242
7 1.470 1.159 0.004 1.166 0.013 | 0.987 0.199
8 -0.180 -0.147 -0.02 -0.145 0.025 1.097 -0.047
9 1.003 0.789 -0.009 0.784 0.012 | 1.037 0.127
10 -0.530 -0.423 -0.017 -0.418 0.013 1.073 -0.093
11 1.937 1.543 0.047 1.582 0.032 | 0.936 0.354
12 0.137 0.105 -0.02 0.103 0.032 | 1.105 0.009
13 1.003 0.789 -0.009 0.784 0.012 | 1.037 0.127
14 0.536 0.424 -0.015 0418 0.030 | 1.090 0.081
15 -0.797 -0.634 -0.014 -0.628 0.012 | 1.057 -0.131
16 -0.263 -0.212 -0.019 -0.209 0.010 | 1.079 -0.054
17 -2.063 -1.652 0.053 -1.699 0.032 | 0.921 -0.412
18 -1.830 -1.478 0.058 -1.506 0.048 | 0.974 -0.422
19 0.120 0.090 -0.020 0.089 0.011 1.081 -0.001
20 2.336 1.924 0.216 2.021 0.091 | 0.906 0.701
21 0.603 0.502 0.002 0.496 0.121 1.201 0.189
22 0.470 0.368 -0.017 0.362 0.013 | 1.073 0.051
23 0.770 0.607 -0.012 0.600 0.019 | 1.063 0.105
24 -0.863 -0.717 0.011 -0.711 0.094 | 1.148 -0.268
25 -0.830 -0.661 -0.013 -0.655 0.013 | 1.055 -0.137
26 1.470 1.159 0.004 1.166 0.013 | 0.987 0.199
27 0.470 0.368 -0.017 0.362 0.013 | 1.073 0.051
28 -3.565 -3.457 3.254 -4.319 0.337 | 0.616 -3.220
29 0.069 0.053 -0.020 0.052 0.066 | 1.148 0.002
30 0.237 0.183 -0.019 0.180 0.010 | 1.078 0.015
31 -1.297 -1.033 0.001 -1.034 0.020 | 1.020 -0.227
32 1.303 1.045 0.020 1.047 0.046 | 1.041 0.263
33 0.170 0.133 -0.019 0.131 0.048 | 1.124 0.021
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